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QUESTION 1

Which choice best represents how to modify the functionality shown in this image? 

A. From a Classifier 

B. From a Discovery Pattern 

C. From the MID Server 

D. From a Probe 

Correct Answer: B 

 

 

QUESTION 2

Which method is used by Discovery to determine if a Host IP is active or alive? 

A. Port Scan 

B. Traceroute 

C. Ping 

D. Classification 

Correct Answer: A 
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Reference: https://docs.servicenow.com/bundle/paris-it-operations-
management/page/product/discovery/concept/c_GetStartedWithDiscovery.html 

 

QUESTION 3

Which choice will populate the Location field for a discovered CI? 

A. Location field for a Discovery Schedule 

B. Location field for a parent CI Type 

C. Location field for a Port Probe 

D. Location report from the Discovery Dashboard 

Correct Answer: A 

 

QUESTION 4

In general, Discovery can provide which of the following kinds of application relationships? (Choose two.) 

A. tcp to udp 

B. application to application 

C. mid server to target 

D. host to application 

Correct Answer: D 

 

 

QUESTION 5

Which of the following choices are only used for the Application Pattern Type? (Choose two.) 

A. Run Order 

B. Identification Section 

C. CI Type 

D. Operating System 

Correct Answer: AD 

Reference: https://docs.servicenow.com/bundle/paris-it-operations-management/page/product/service-
mapping/task/t_CreatePatternPatDef.html 
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